
WORX INTAKE GRATE

info@worx.com.au | worx.com.au

Australia: United States:

info@worxracingusa.com | worxracingusa.com

10B 354 Brisbane Rd Arundel QLD 4214
Phone: +61 7 5563 1031

9251 Orco Parkway Unit G, Riverside CA 92509
Phone: (951) 684-9679

Part No. WR205

Suits Models:
• Yamaha Superjet 1996-1997

Parts Supplied:

INSTALLATION INSTRUCTIONS:

IMPORTANT: READ ALL INSTRUCTIONS BEFORE PROCEEDING WITH INSTALLATION

Tools Required:

1.	 Put ski on a flat surface and roll onto the left side. Remove intake grate, wipe clean 
any old silicone and residue from hull.

2.	 Apply a small amount of Marine silicone sealant to both mounting surfaces of your 
new WORX Intake Grate.

3.	 Apply a small amount of blue loctite to the supplied bolts.

4.	 Fit WORX Intake Grate into position by using the (M6 x12mm) bolts in the rear 
mounting holes, and the larger (M6 x 20mm) bolts to the front mounting holes. Fail-
ure to do this correctly could cause damage to the pump housing. 

5.	 Ensure bolts are tight.

6.	 Wipe off excess sealant with a damp cloth. Allow 24 hours minimum for sealant to 
cure before riding.

7.	 Regularly check all bolts are tight on your intake grate.

•	4mm Allen Key
•	Marine Silicone

•	Blue Loctite•	2 x WORX WR205 Intake Grate
•	2 x M6 x 20mm Cap Head Bolts

•	2 x M6 x 12mm  Cap Head Bolts


